2000 = =0l & 2 BHa A

AN 23 AR

N = O &

A

Zy: X 2ols 2 X
9l 0152 E (S5l & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o HRE2
P! 789,547 606,222 163,325
Ngolsl 29 X 732,078 574,079 157,999
EEEESIEEE 270,063 125,564 144,499
o5 2YX 216,373 86, 124 130,249
101 Q12| 5,538 0 5,533
10 JZHI2RSES 5,538 0 5,538
SLEESIE- LRI
34,6109 * 291 * 802 5,538
201 B2 60,002 33,524 26,478
01 At 23,938 8,370 15,568
Olger+2H] 22,188
OXNYOlSlSY L AIBS BN 7
2 50,0008 * 267 1,300
02319% =SHO0IT 2
40,0008 * 1254 « 128 480
OoINEE NH22 7Y
45,0008 * 1254 « 128 540
ORZA 29 ADE 7Y
2,500,0002 * 141 2,500
0°lsl A2E HH 1,000 * 1,00004 1,000
CEE TN R-E - E-n =
500,0002! * 43| 2,000
0o AREE 7Y 1,000,000 * 14} 1,000
O3l JIEE 2L 20,0008 * 1500 3,000
OBATY 52 L 487 4,920
03t 70,0008 * 33 * 122 2,520
048t 50,0008 * 43| * 122 2,400
ONYARA SABX Y
17,0002 * 52 A « {2 1,020
osEA ZAD S8 DAY
600,0002! * 14! 600
ONURA HOIHIRE Elf 2L
330,0008 * 20§ = 33 1,980
oMYA ZAD EH 7Y
54,0002 = 13 * 122 1,848
Ol2y+g] 1,750
00T 2903 HARIRE 39 &
Hag 70,0008 * 521 * 53] 1,750




M 23 AP

B xgols 29 K

CHel: 95| 2Y)|B R (S5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
2 Zz=gl 25,064 19,354 5,710
Ol22323 2 HAl 8,144
OYBEES L5 W2 1,264
LS 2502 * 8804 * 122 264
0SIIRH 1,666.621 * 500 * 122 1,000
CEEE R =
30,0002 * 4CH * 122 1,440
093 01SHE23
80,0002 * 4CH * 122 3,840
OSBRI KISIHAI
230,0008 * 204 * 23] 920
0% MEXY NSX 22
300,0008 * 204 = 13l 600
OolBlol® o MBI AA 442
40,0002 * 204 = 13l 80
Ozt s =] 6,920

odE XE =Yl
1,562.5& = 4004 = 20H » 1228 15,000

oodEg Xt& 4t

80,000& * 2CH » 123 1,920
03 A2 11,000 5,800 5,200
OZOISSEH #ALEE DI2rol AlGy
5,0008 * 3009 * 13 1,500
OAlZ9 3l o3l A= 4,300
O 4| 30,000& * 521 » 22JHAl= * 13 3,300
OHAE S5+ 1,000,000& * 14] 1,000
OMNegolsl o/&3/9 I} 2,320
O 4ldl 40,000& * 321 = 11JHAIZ 1,320
O#HANESET LY 1,000,000 * 14 1,000
OFEA oHsS2s 213 M 2,880
oAl 20,0008 * 3621 * 43 2,880
202 oiHl 28,700 28,600 100
01 SLHAHbI 13,600 13,600 0
OFY ANZ2A3| &3 =401t
52,5003 * 4¢! » 123 2,520
Oo& 4ot 11,080

O 2tLh 20,0008  2¢1 * 25¢ 1,000




SN SIS AR D
o XYols 29 K
9l 0152 (el d e

_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl & 04 Sl ko HRE2
SEE 70,0008 * 201 » 62 » 122 10,080
03 =2AHR04 15,100 15,000 100
0ol dHeleis +80it]
2,500,000& = 421 = 13/ 10,000
OFelsl 2 XLols 22 el
04 8l 2,600,000& * 1|_ * 13 2,600
OZHTHZY L DES 2801yl
2,500,000& * 1Q1 % 12 2,500
203 YREFY| 4,500 5,000 AB00
03 AIMF=AHR =] 4,500 5,000 A500
O2sley AML ExY
4,500,000& * 13 4,500
205 29|3dl 450 450 0
BEEEEEEEES 450 450 0
OXgoAsLHEADY It 5lY)
50,0008 * 921 * 13| 450
301 utEa=s 4,250 4,250 0
10 BAIAHIENS 2,250 2,250 0
OQABisAl Y BB DS ZHT A
30,000& * 75¢I 2,250
12 JIEt243 2,000 2,000 0
oMzl ot 243
50,000& * 3¢! * 4L 600
OBINSEN & 2M 30 B2I} 28
70,0003 * 521 = 43| 1,400
401 A& HIL=ROY| 16,670 0 16,670
01 Al&HI 16,670 0 16,670
ONYRINS 5loa BSTH AX
16,670,000& * 14l 16,670
405 XtobESHI 96,263 14,300 81,963
01 AL SESFHSHI 96,263 14,300 81,963
Oslola 01013 2 FHEY
500,0008 * 44 2,000
OFsloa 01013 Y =HEY|
1,000,000& * 1CH 1,000
O223a =3 JISEH 700,000& = 1CH 700
OABIANRA L ARARY & - L]
2 10,318,000& = 14 10,318




A 23 AR

B xgols 29 K

9l 0152 (S5 @ 2)
) _ . A -
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
OolsIARa & eARs FII7Y
82,245,000 * 14] 82,245
ozgs 8= 53,690 39,440 14,250
201 sr2 | 53,690 39,440 14,250
01 AR el 53,690 39,440 4,250
Olger+2H] 41,940
093 3lo= 2ot
15,000,002 * 14} * 13| 15,000
0218l AAX 22t
10,0002 * 5005 * 23| 10,000
02008 % BIALAM REEF 22t
5,000,000 * 141 * 13| 5,000
OolRois DI L2
10,0008 * 30% * 23] 600
OoIFA RoZA ST F|
2,000,000 * 10 * 13l 2,000
OolslaA A HHT |
2,000,000 * 304 6,000
oot U AFER BYIHE M
70,0008 * 104 * 122 840
oagsld sola B2 Y @I
RIS 250,008 * 40} 1,000
OMYRINS oA YT 7Y
1,500,008 * 141 1,500
SICEmET) 1,750
oomels U AOILE &4 11,750
oo & 416,666.62 * 991 * 23| 7,500
oze 265,625%1 + 89 * 23| 4,250
oNEs 462,015 448,515 13,500
SIEEERSh] 462,015 448,515 13,500
205 |38 448,815 435,315 13,500
01 olZESH| 118,800 118,800 0
O oSt
1,100,000 * 99! * 122 118,800
2 B4 124,881 124,881 0
oo BF+Y ,156,305% * 991 » 122 124,881
03 =U0tH 43,884 43,884 0
O S YLF Ot
91,0008 * 921 » 32 * 122 29,484




SN QAR
M@ xgols 29 N
ool oFES (9l &8

- _ - NEc
S ZH L SRA(BH) - HIRAY - BHES Ofl &t 8 0l ot o HRE2
SEEEEERELRE 14,400,0008 * 14! 14,400
04 =204l 22,880 22,880 0
0o =gloia 17,600
oo, 2od 2,500,000& » 2¢1 = 12 5,000
o2 1,800,000& * 72! % 13 12,600
ORMIMZS L DR 24
17,600,000& = 30/100 5,280
05 Z3EE8SER=AHI 52,200 52,200 0
Ood2g 85&l 4,800,000& = 99l 43,200
OUMZAMSHIARS TS S|
1,000,008 * 92! 9,000
06 Jl&a2IEHRFa] 70,770 57,270 13,500
oo & 2,310,000& = 1¢! * 128 27,720
o= 1,150,000& = 1! = 128 13,800
Oagy3E 750,000% = 3¢l » 123 27,000
OUlatZBASE AR 562,500& = 43| 2,250
07 dZHEANRES 4,600 4,600 0
OFR omogols 2e3
4,000,000 * 12l 4,000
OXY AZoIR3 23 600,008 * 13l 600
08 E=CHSFE= 5,400 5,400 0

O =z XM 223

50,0002 * 991 * 122 5,400
09 =AU 5,400 5,400 0
Oola 2VAALE UM 23
50,0002 * 921 * 122 5,400
04 GI=RYIS 13,200 13,200 0
CEEERE EEE) 13,200 13,200 0
OEPNL TN 1,100,0008 * 191 * 122 13,200
HHSAFHI(SS AR D) 57,469 52,143 5,326
olzte gyl 6,280 5,000 1,280
olz 2oyl 6,280 5,000 1,280
203 ARFXY| 6,280 5,000 1,280
VIEEP e 880 800 80

O ItgRFAHI 80,000& * 112l 880




2A: Qs ALR
M HH2FHHI(ASAIRD)
chel: oz 2yl (649l &2
_ _ MEc
S BB CRI(SIA) - MIRALY - BAS Ao 0l At o s
04 EN2ILRFLEY| 5,400
O2 3l At 1t 250,000& * 12& 3,000
Oos M= 4 100,000& * 128 * 24 2,400
&Y D123l 51,189
=224l 45,106
201 LB29| 28,726
01 At®R2teldl 19,036
o[getegl] 12,460
ORAN2Z SHAHA 8,500,000 = 14l 8,500
OX=ZHA A== 3,960
o219 10,000& * 182 * 65 * 12& 720
o K& X 8,000& 28 * 158 « 12& 2,880
o H2HX| 6,0002 * 1% * 55 * 122 360
OUstoI s asHaE =0
64,0003 » 22 * 128 1,536
Ol=&tl] 5,040
ORAN2Z SHAH A 5,040,000 = 14 5,040
02 3=2Z4l 9,690
Ol2322 ¢ HMAI 9,690
OJtAdIH e
30,0008 * 20 * 52 300
O232 & Y =3 o4 Adala oS
&Hl Rl 50,000& = 300 * 12& 1,800
O2I3EHO0IX |RXAl2eldl
572,000& = 12& 6,864
OC2SEMHOIX &HOS AIE=
726,000& * 12| 726
202 OiHl 16,380
01 =Wobl 16,380
OFRNMSYE SHH & 16,380,000& * 14! 16,380
dE/AJAAD|=23 I 6,083 4,433 1,650
201 B2 4,083 2,433 1,650
01 At=R2teldl 4,083 2,433 1,650
ONZ23LY ANEES ¢
90,000& * 12& 1,080




SA

B #H2 AL (BN
&Rl 2ggd JI=3l (el =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
O=AEX ¢ 17,600& * 30=F A 528
O=ADI EH,EE WwHbI
275,000& + 1CH = 33 825
OdoIZE EH ¢
330,000& = 1C0H = 53] 1,650
202 Oddl 2,000 2,000 0
01 =LAl 2,000 2,000 0

4

O2Ege =& 2N

20,000& * 491 » 25

2,000




